TMP No. 08280332 | Page 1 of 4 Rev. 12/08 Always consult DORMA's web site for latest template at www.dorma-usa.com or call 1-800-523-8483.
NOTE
1. MIN HEADER SIZE 1-3/4" X 4". 12-5/8 FOR 1/4-20 MACHINE SCREWS
2. CUT OUT FOR COVER PLATE 2116 (320) USE No.7 (0.201") DRILL
3-3/4" X 15-3/4". T— |— TWO (2) HOLES IN FRAME
11
3. DO NOT SCALE DRAWING. ? OF SPINDLE \
4. CLEARANCE BETWEEN HEADER — I N S — —
AND DOOR 1/8". FTT J—b——,————t=::::::::::::::::::::::_l_——_]:———————— i | I
5. AUXILIARY STOP REQUIRED COINCIDING ‘ —)'_j/)*’ L = :ﬂf_ :
WITH DEADSTOP ON RTS CLOSER. . i ot
2-3/4 P I B o I
_ . _ _ _ _ _ S
(70) Lol i P !
NS i of |
‘;.'A _\I-\ 1 o) = |
FOR 8-32 MACHINE SCREWS USE No0.29 (0.136") - '___—l_i):’::f::’_—_:::::E::::::::::::::Z:E]:___Lﬂl- _________ _ |
DRILL AND TAP THREE (3) HOLES — @ V00X — _;
15/32 7/32" DRILL-CSK 82° X 13/32"
(12) TWO (2) HOLES
' £$ ' £ J’
! | & ! . [ 1-1/2
|
* 2 T - i | | (38) |
! . . .
: Ej FRONT VIEW T
25/32 2-3/4 !
SIDE VIEW 1-11/32" DIA. CLEARANCE HOLE
13/16
(CLOSER BODY REMOVED) 9/16 8-1/32 9/16 ]
(14) - — (21)
(204) (14)
? BOTTOM VIEW ‘
- rs
3 2(35)2 338 o ™ (COVER PLATE ONLY) § | 134
(86) |/ b io (44)
& ﬁ COVER PLATE 8563 ?
2.3/4 ~~—— 7/16" DIA. TWO (2)
3/16" DRILL — e CLEARANCE HOLES
CSKT s&gleﬂ?){Es (70) 15-23/32
@ (399)

DOOR CLOSER MODEL: RTS SERIES END LOAD PACKAGES 07 THRU 22
ALUMINUM DOOR AND FRAME, CENTER PIVOTED
FRAME PREPARATION - WITH SLOTTED ANGLE BRACKET

DORMA Architectural Hardware
Reamstown, PA 17567




TMP No. 08280332 |Page 2 0f 4 |Rev. 12/08
DIM "C"
ARMNo. | g AIL DEPTH
8835 1"
8836 7/8"
8837 5/8"
8838 3/4"
1-1/2
@8 | CUT OUT TO
LOAD DOOR
c IM‘ T
= "
} g 9/16
(14)

TT
—
— |

—

1/8
CLEARANCE —— =

3

Always consult DORMA's web site for latest template at www.dorma-usa.com or call 1-800-523-8483.

2-3/4 3/16" DRILL
TH— ONE (1) HOLE IN DOOR
! FOR LOCATOR PIN
e

FOR 1/4-20 MACHINE SCREW
USE No.7 (0.201") DRILL
TWO (2) HOLES IN DOOR

_%.. - \< -
13/16 TOP VIEW
(e
(21)
2516 1 | s
(59) B (89)
|
|
TT |
1 Y ey
1
it '
1
2314 I ‘
(70 i i_

TOP ARMS 8835,8836,8837,8838

DORMA Architectural Hardware
Reamstown, PA 17567




TMP No. 08280332

Page

30f4

Rev. 12/08

FLOOR PREPARATION - 8852/8853

4-1/4

(108)

13/16
(1)

FOR WOOD FLOORS USE 1/8" DRILL
FOR PLASTIC ANCHORS USE 5/16" DRILL
TWO (2) HOLES IN FLOOR

DIM A DIM B
PIVOTTYPE | \veB DEPTH PIVOT HEIGHT PIVOT No.
FLOOR 7/8 1-3/16 - 1-7/16 8852
PIVOT 1-9/16 1-7/8 - 2-1/8 8853
THRESHOLD
Apda 7/8 1-1/16 - 1-5/16 8855

NOTE: ALL PIVOTS HAVE 1/4" HEIGHT ADJUSTMENT

Always consult DORMA's web site for latest template at www.dorma-usa.com or call 1-800-523-8483.

FRONT VIEW

2-3/4

|

25/32"

(70)

DRILL

\FINISHED FLOOR

FOR 1/4-20 MACHINE SCREWS

USE No.7 (0.201") DRILL
THREE (3) HOLES IN DOOR

(36)

1-7/16

MIN, — - +—

ONE (1) CLEARANCE HOLE

——t - .
|
L + + [ . 5/16
1/2 ' ' MIN
316 wiN. 1T | ! 8)
(5) =L A (13) i i !
B
Y 7]
: T Y B A -
? O SP O R T
f * OF PIVOT
THRESHOLD PIVOT - 8855 FLOOR PIVOT - 8852/8853 2.5/8
~on
B 5-1/2
B | (140)
THRESHOLD PREPARATION - 8855 _4-5/8 7
| (117)
|
3-3/4 1
~ o5 -—
_ L -—h _ _ _ -+—¢
\ el =
|
I <1(/31) CLEARANCE

BOTTOM VIEW

FLOOR PIVOT TYPES: 8852,8853,8855,8857, ALUMINUM
DOOR PREPARATION, CENTER PIVOTED 2-3/4" BACKSET

PIVOTS 8852,8853,8855

DORMA Architectural Hardware

Reamstown, PA 17567




TMP No. 08280332 | Page 4 of 4 Rev. 12/08 Always consult DORMA's web site for latest template at www.dorma-usa.com or call 1-800-523-8483.

— 1
(1/4" HEIGHT ADJUSTMENT) !

MIN.% EI n l ‘ (11/2) ’/\*iﬂ.LI/.\/.\ __________________ =
L] IT.\_l A B ( s

T L —T Y 1

* " f \ dI;OF PIVOT

FINISHED FLOOR !

DIM A DIM B
PIVOT TYPE |\\c5 DEPTH BIVOT HEIGHT PIVOT No. |
THRESHOLD
67
B 5-3/4
B I (146)
4 - FOR 1/4-20 MACHINE SCREWS
= 102 | USE No.7 (0.201") DRILL
TWO (2) HOLES IN DOOR
[— |
|
1-7/16
4-1/4 E— - @@— — @) MIN. — -+
13/16 (108) PREPARATION - 8857 g |
™ - CLEARANCE
(21) | B
! BOTTOM VIEW
- T+ -@B- - P —B- - - -
\
\ |
I
2-3/4
~0 THRESHOLD
17/64" DRILL TWO (2) CLEARANCE HOLES FLOOR
5/16" DRILL FOR PLASTIC ANCHOR
TWO (2) HOLES IN FLOOR
PIVOTS 8857 DORMA Architectural Hardware

Reamstown, PA 17567




